Tableaux des Puissances de Dix (H)

Divisez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (H) Solutions

Divisez le nombre de la rangée par celui de la colonne.

+ 50 500 5000 50 000
7,27 0,1454 0,01454 0,001454 0,0001454
2,47 0,0494 0,00494 0,000494 0,0000494

5,8 0,116 0,0116 0,00116 0,000116

3,2 0,064 0,0064 0,00064 0,000064
8,8 0,176 0,0176 0,00176 0,000176

+ 5000 50 000 50 500

8,7 0,00174 0,000174 0,174 0,0174
7,64 0,001528 0,0001528 0,1528 0,01528
9,89 0,001978 0,0001978 0,1978 0,01978
4,96 0,000992 0,0000992 0,0992 0,00992
1,46 0,000292 0,0000292 0,0292 0,00292

+ 60 000 60 600 6 000
9,99 0,0001665 0,1665 0,01665 0,001665
7,23 0,0001205 0,1205 0,01205 0,001205
5,82 0,000097 0,097 0,0097 0,00097
2,81 0,00004683 | 0,04683333 | 0,00468333 | 0,00046833
6,37 0,00010617 | 0,10616667 | 0,01061667 | 0,00106167

+ 200 20000 20 2000
5,55 0,02775 0,0002775 0,2775 0,002775
9,39 0,04695 0,0004695 0,4695 0,004695
6,94 0,0347 0,000347 0,347 0,00347
8,77 0,04385 0,0004385 0,4385 0,004385
3,27 0,01635 0,0001635 0,1635 0,001635
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